At Microsoft a team assembles and packages instruction manuals and is working on its own line balancing plan.  The team’s precedence diagram indicates that:
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A – A,D and F could be done at the first station; B and G at the second, and C, E and G at a third

B – Balance delay will be 0.9 or greater

C – One reasonable solution consists of eight or more stations

D – Elements A, B, C and D could be assigned  to one workstation, with elements E, F, and G at a second.

I believe the answer is A not sure

